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d'b|f Joj:yfkg ljefu
bfloTj        ?= ?= ;DklQ        ?= ?=

1=a}lsé clkm;df gf]^ df}Hbft 1,641,350,498.00   1= ljb]zL d'b|f / ;]So"l/^L 171,448,300,000.00
2=rng rNtLdf /x]sf] gf]^ 173,978,649,502.00   2= g]kfn ;/sf/sf] ;]So"l/^L 4,171,700,000.00

 hDdf lgisflzt gf]^ 175,620,000,000.00

hDdf bfloTj 175,620,000,000.00   hDdf ;DklQ 175,620,000,000.00

a}lsé ljefu
bfloTj ?= ;DklQ ?=

1 d'nwg 3,000,000,000.00   1  gf]^ 1,641,350,498.00
2 ;fwf/)f hu]*f sf]if 14,307,172,070.43   2  /]RsL 0.00
3 df}lb|s bfloTj sf]if 1,798,600,000.00   3  ljb]zL d'b|f 2,343,540,586.64
4 ljsf; sf]ifx? 9,235,398,612.04   4  ljb]zL a}+s df}Hbft 65,598,010,026.59
5 #=;f=p= ljsf; sf]if 0.00   5  P;=*L=cf/= ;+lrtL 7,344,551,527.99
6 ;^xL ;lds/)f sf]if 31,788,767,143.51   6  ljb]zL a)* 818,353,844.22
7 ;'grf¤bL ;lds/)f sf]if 5,368,797,475.04   7  vl/b / l*:sfp)^ u/]sf] ljn

8 ;]So"l/^L k'g/d"Nof+sg sf]if 0.00      -s_ :jb]zL 683,519,305.70
9 lgIf]k      -v_ ljb]zL 278,267.50
   -s_ g]kfn ;/sf/ 13,081,165,503.41   8  nufgL

   -v_ afl)fHo a}°x? 64,060,975,554.43      s= ljb]zL ;]So"l/^L 60,862,316,709.60
   -u_ cGo 21,591,870,513.71      v= g]kfn ;/sf/sf] ;]So"l/^L 23,365,033,516.83
10 e'QmfgL lbg'kg]{ lan 961,934,218.97      u= ljQLo ;+:yfgx?sf] ;]So"l/^L 116,685,500.00

     #= l/kf] ljb]zL  
11 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj 0.00      #= cGo ;]So"l/^L 28,857,000.00
12 P;=*L=cf/= af¤*kmf¤* 8,630,125,982.07   9  shf{ / ;fk^

13 cGo bfloTj 22,507,137,000.43      s= g]kfn ;/sf/nfO{ 0.00
     v= jfl)fHo a}+sx?nfO{ 1,021,484,000.00
     u= ljQLo ;+:yfx?nfO{ 281,597,868.71
     #= :yfoL t/ntf ;'lawf 9,000,000.00
     ª= cGo shf{ / ;fk^ 4,170,684,340.29
  10  cGo ;DklQ 28,046,681,081.97
     -;'g df}Hbft ?=245,455,439.14 ;d]t ;dfj]z_

hDdf bfloTj 196,331,944,074.04   hDdf ;DklQ 196,331,944,074.04
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